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QUESTION 1

While analyzing an application, you observe that it contains numerous Interfaces for complex domain logic. Completing
a business Function currently requires calling several of these interfaces in an order that is understood by system
experts. 

Which design pattern would you suggest to refactor the code? 

A. MVC 

B. DAO 

C. Adapter 

D. Decorator 

Correct Answer: A 

 

QUESTION 2

You are implementing an online music that will store and play a user\\'s collection of songs. You want users to rate their
songs and view the top songs from friends. All queries must complete in four seconds or less. 

Which approach would meet the response time requirement with minimal overhead? 

A. Java class that uses JDBC with embedded SQL 

B. Java class that uses an optimized stored procedure 

C. JPA entity class with a lazy fetching strategy 

D. JPA entity class with an eager fetching strategy 

Correct Answer: B 

 

QUESTION 3

ABC Travel offers a night reservation service, exposed as a web service. XYZ Stays offers a hotel reservation service,
also exposed as a web service. ABC and XYZ will not change their web service. A startup company has contacted you
for 

advice about designing a new service that combines flight and hotel reservations, which they will offer as a web service. 

The startup company plans to provide their service by implementing a portable Java EE solution that aggregates the two
services offered by ABC Travel and XYZ Stays, a combined reservation succeeded. 

Only if both the flight reservation and the hotel reservation succeed 

Which is the most effective way to meet the business requirement? 

A. The startup company should implement their new service as a web service that uses an XA transaction manager. 
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B. The startup company cannot implement their new service as a web service, but must use an enterprise JavaBean
(EJB) component to gain transaction propagation. 

C. The startup company should implement their new service as a web service by calling the two existing services, and
implementing their own compensating transaction. 

D. The startup company can implement their new service as a web service by calling the two existing services in a
single transaction, relying on transaction propagation to support this business rule. 

Correct Answer: C 

 

QUESTION 4

You are designing a new subsystem to store and scratch for user commands in a fashion company\\'s website. On
class, CommentManager, is responsible for accessing comment data and providing read-only access to other objects in
the subsystem. 

Which two implementation details are necessary for the Cementmanager class? 

A. The storage mechanism implemented in CommentManager must be private to CommentManager. 

B. All the accessor and mutator methods in CommentManager must have the static modifier in their declarations. 

C. The comments must be assessable directly only within CommentManager. 

D. CommentManager should be a singleton object. 

Correct Answer: AC 

 

QUESTION 5

Your development team wants to use Google Guice. A previous architect assigned this request a low priority, citing the
complexity of integration and no compelling benefits statements from the requesting team. 

The team claims that their colleagues have achieved the integration using a pattern. This pattern reduced the level of
difficulty and risk and did not require vendor support. 

Which pattern fits this description? 

A. Context Holder 

B. Service Starter 

C. Dependency Injection Extender 

D. Bean Locator 

Correct Answer: C 
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